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 Halata  

US terms
ch = chain
sc = single crochet 
dc  = double crochet
sl st = slip stitch

Stitches divisible by 6+1
(In my example 253 stitches)

1. row : dc whole row

2. row : ch 4, skip 1, dc in next stitch. Whole row 
( ch 1, skip 1, dc in next stitch) 

3 . row : ch 3, *dc in ch-space p, dc in next dc* *-
*repeat

4. row : ch 4, (dc ,ch 1, dc , ch1) in first stitch. *skip 
2 , sl, ch 1, skip 2 ,  into next stitch = (dc, ch 1, dc, 
ch 1, dc, ch 1, dc, ch 1, dc, ch 1) (together  5 dc in 
one stitch)* *-* repeat.  Skip 2  , sl, ch 1, skip 2 . In 
last stitch : (dc , ch 1, dc , ch 1, dc)

5. Row : ch 1, sc in first stitch , *ch 5, sc in middle 
stitch of the farn* *-* repeat.  Sc in last stitch .

6. Row : ch 3, *5 dc in ch-space, dc  in sc * *-
*repeat till end  

Work row 1-6 , repeat row 2-6 as much you want  
Have fun

Chart on following page
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duoble crochet

chain

slip stitch

single crochet


